MCR 3U9 Semester 2, 2016 - 2017
Grade 11 Pre-AP Mathematics
Unit 2 — Exponential and Logarlthmlc Functlons Test #1
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Modified True/False (5 KU)
State whether each statement is ti

e/ change the underlined part to make the statement true.
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6. Suppose that g(x)= 15(2°5<X+6)+5 (14 KU)

(a) State the transformations required to obtain g from  (b) Express the transforgaation in map#ing notation.

the base function f (x)=2". @ (xy)—> (2?( 6 /. 5—7 Vs )
haloiieonte; Vertical (c) Now apply the transformation to a few key points
L Sfr;:l:c,cl«l:o b - S frellr. A )/ on the graph of the base function f (x)=2".
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(d) Apply the transformation to the (f) Finally, sketch the graph of y=g(x). _p (%) 5
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7. Find an exponential function of the form f (x) = b(ax) that has the
given graph. (5 KU)
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8. Use the provided grid as well as the provided space to write responses to the following questions. (12 COM)
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(a) Sketch the graph of f (x)=1log, x as well as the graph of dh F ) A
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(b) State the equation of f . )f (,"C) = 5 ‘/ 18F
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(d) Explain why it is not necessary to impose any restrictions on the domaln of f toform f*.

This is due to the fuct that £ s one-to-one.
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(e) Suppose that g( =log, x| Would it’be necessary to impose any restrictions on the domain of g to form
g~'? Explain.
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